2. Find all x-intercepts, Holes and equations of VA, if any:

3 _ 2
X-int: ,_ 2x* 4+ 6x° — 50x2 — 150x _...-ZX(X {'ax ﬁ

=0) " x% +28x + 4
X=0, 15,3 i »jvxi?t?:WM

Eq of -VA: —X—: "07\ %W )( xa




3. For each rational function find all y-intercepts and equations of HA, if any.
(73 +8x* -4 6x° —9\-+-1»

a) J’— = "j —.’=
5£° — 8x< + 2x 12x° + Bx® —

y-int: ‘ﬂé NQ&\Y\’C y-int: \J g 3
q0 .327/5_ Eq of HA: 3

4. Simplify. State restrictions on the variable.
10x3 + 30\ = 6x> + 6x% — 36x
%0 =5y —16¢-+80

ST TR+ Y3 g B X 490

3 (x,23?Nb«® ox >t (w f{/)i@

Restrictions :

X%D/ Y /&/%X(X'”‘7M




[Extraneous Solutions)

Solve.

—4 2

X = -2 is an extraneous solution
Sx + 10 X+ 2 because it makes the equation
undefined!

Steps to follow when solving equations
1. Blah, Blah, Blah

2. Blah, Blah, Blah

Last Step: Check your answers



Solve
x + 34
\+—l >(1 3x—4 \

x* + 3x Y
x-))( + 7(X+‘\) Y+ Y '><Lf
WREY - \(AH)@efﬁtR")

XOAY v 700e4) = 424

X*- X+7x+g5 X3 Y

K*rext2= +34 N
X 73y k-39 !/
X46x-0= 0 =

XD Xt - g
X=+4,70

1. Graph this equation. Show asymptotes as dashe

4{ Chapter 9 Review
lines. State the equations of the asymptotes. 1\ z




2. Fipgl the exact solution to each.

) [ x+3 _ 5): 2 — 1)9‘“(

8x 6f 2

< 'Q
b) = :
B TO>FTTR 90® 90 k=20
i Pk TX
75 Xt v == -
> 4 420 =0

X 4 X +x40=Q
oo 3x | e
(2x)(XAY)

S| M1} y- 5y




Chapter 9 Review Questions
14. Each graph is a translation of the functio rite the equationgf each.

=20 = — —+
ey

o N

4 X

K .
F

Simplify each.
(—— + 1 > 57/
’?\
)Y



